
Subject: Re: v001 v002 v003 doesnot uniquely  identify observation
Posted by Trevor-DHS on Mon, 13 Oct 2014 16:07:31 GMT
View Forum Message <> Reply to Message

Your merge doesn't work as you have it because you are trying to match the births recode (BR)
file to the PR file.  For each respondent there are many births, so consequently the 1:1 merge
doesn't work.  If you tried merging using the IR file it would work.  What are you trying to achieve? 
If you can explain what you want your final dataset to look like then I can tell you the best way of
achieving that.
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